Addition and subtraction practice

Calculate the missing number

479 12,345
85 122 2,120 2,120
3,476 17,306
1,211 520 8,001 3,250
Calculate the missing number
58 + =40+40 84-28=17+
_ +200=300+400 1,200+400=___ -200

12,200 — 3550 = 7500 +

76219 + =100,000 - 20,000

Find the answers using the column method

56 +72= 274 - 46 =

134 + 527 = 4,574 - 1,339 =
700 + 900 = 9,035 - 4,327 =
3,480 + 387 = 23,472 - 16,629 =
6,029 + 4,000 = 100 - 43 =

12,500 + 6,279 = 1,008 — 345 =
23,918 + 43,275 = 10,000 — 348 =
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Complete the missing digits

5 3 4 3 8

w N

7 T—
- 33 4 - 637
165 6 9 3 7

Solve these addition and subtraction word problems

w

Alyssa grew 126 watermelons. Sara grew 137 watermelons. How many watermelons did they grow in total?
Jason has 885 violet balloons, he gave Fred 351 of the balloons, How many violet balloons does he now have?

Keith's high school played 869 basketball games this year. He attended 530 games. How many basketball
games did Keith miss?

There are 10,234 trees currently in the park. Park workers will plant 1,538 more trees today. How many trees
will the park have when the workers are finished?

Solve these Multi-step addition and subtraction word problems (Multi-step = more than one problem to
solve to get your final answer.

Fred likes to collect coins. Fred got 24 coins from his brother, 27 coins from his mother, as well as 30 coins
from Sally. However, Fred lost 34 coins before putting those coins into his piggybank. How many coins does
Fred have in his piggybank?

Benny had 209 bear stickers. Benny gave 34 stickers to Sara, 29 stickers to his sister and an additional 72
stickers to Jess. How many stickers does Benny still have?

For football season, Sandy decided to buy 19 balls, 37 pairs of shorts, as well as 32 pairs of football shoes. In
total, how many objects did Sandy buy for football season?

On Monday, the zoo had 15,432 visitors. On Tuesday, it had 1,700 more visitors than Monday. How many
visitors did it have in total on Monday and Tuesday?
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A few extras....

Mr. Young says that 1,550 + 2,550 = 4,000
Use a subtraction to show that he is wrong.

32,376 - 12,418 = 19,958
Write this as an addition problem to prove this answer is correct.

Richard buys a car for 12,238 dirhams. Mohammed buys a car for 9,386 dirhams. What is the difference
between them?

Lucy wants to buy a new phone for 4,000 dirhams. So far she has saved up 2,981 dirhams. How much more
money does she need to save?

Add these two numbers together
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Add these two numbers together

N +§
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